KAUHE - ERFEREEREAET T 7 b RAEER

@ Alexandrium:0
D. fortii: 0

D. acuminata:0

Alexandrium: 20 Alexandrium:10
D. fortii: 0 D. fortii: 0
D. acuminata: 60

D. acuminata: 0 | 4
£ @ Alexandrium:0
/ Alexandrium:10 ’ D. fortii: 0
4.:9 D. fortii: 0 T D. acuminata:0
D. acuminata: 0

WA ERER .

¥ [k
& . Alexandrium: 0
Alexandrium: 30 @ D. fortii: 0
D. fortii- 0 g D. acuminata:0
D. acuminata: 0

”
-

Alexandrium: 10
D. fortii: 0
'Y} D. acuminata:10

Alexandrium: 0 @
D. fortii: 0

D. acuminata:0

Alexandrium: 0 [
. aouminata: 0 [ 387 B :201646H20~21H

F*:SE (6 820~210) DIAELER

BEISU7N HIRH GEIEE/L)
ARt | KE = Alexandrium Dinophysis w%
D. fortii D. acuminata ZF DD Dinophysis
(DA ET 17.66]  29.14 20 0 60 0
Q@fHAH 17.92]  30.89 30 0 0 0
OV} ! 17.10 3252 0 0 0 0
@EFIF 17.50]  33.18 0 10 0 0
OXSHEF | 1746] 3229 10 0 0 0
OF:2;! 17.47|  31.92 10 0 0 0
DES 16.96]  32.79 10 0 10 0
®@ER - - 0 0 0 0
QrE - - 0 0 0 0
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man Alexandrium ($Ra%L/L)

" O QAR (@ZViR [ DEHIF |OAESHACEE (DESE |(@FE |OFRE |OXR
1H25H 50 0 0 0 10 0 0 - - -
2A1H 110 0 0 0 0 0 0 0 0 0
2A8H 140 0 0 0 0 0 0 - - -
2H17H 60 0 0 - 0 0 0 - - -
2H22H 20 0 0 0 0 0 0 - - -
328 10 0 10 0 0 0 0 0 0 0
378 0 0 0 0 0 0 0 0 0 0
38148 0 0 10 0 0 0 0 0 0 0
3822H 0 0 0 0 0 20 0 0 0 0

3H28~29H 0 0 0 0 0 0 0 0 0 0
485H 40 0 0 0 0 0 0 0 10 0
48128 20 0 0 0 0 0 20 - 0 30

4818~20H 20 0 30 0 30 10 0 10 10 0

4825~26H 20 0 0 0 0 0 0 0 0 0
528 60 0 0 0 0 0 0 - - -
5898 40 0 20 0 0 0 10 0 0 0
58168 40 0 0 0 0 0 10 0 0 0
5823H 90 0 0 0 0 0 0 0 0 0

5H830~31H 50 0 10 0 0 0 0 0 10 0
6H6H 30 30 0 0 10 0 0 0 10 0

6H13~14H 20 10 0 0 0 0 0 0 0 0

6H20~21H 20 30 0 0 10 10 10 0 0 0
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18258 0 0 0 0 0 0 0 - - -
2A1H 0 0 0 0 0 0 0 0 0 0
288H 0 0 0 0 0 0 0 - - -
28178 0 0 0 0 0 0 0 - - -
2H22H 0 0 0 0 0 0 0 - - -
3A2H 0 0 0 0 0 0 0 0 0 0
3A7H 0 0 0 0 0 0 0 0 0 0
3H14H 0 0 0 0 0 0 0 0 0 0
3H22H 0 0 0 0 0 0 0 0 0 0

3828~29H 0 0 0 0 0 0 0 0 0 0
4858 0 0 0 0 0 0 0 0 0 0
48128 0 0 0 0 0 0 0 - 0 0

4818~20H 0 0 0 0 0 0 0 0 0 0

4825~26H 0 0 0 0 0 0 0 0 0 0
582H 0 0 0 0 0 0 0 - - -
589H 0 0 0 30 10 0 30 0 0 0
5816H 10 0 0 20 0 0 0 0 0 0
5H23H 0 0 0 20 0 0 0 0 0 20

5830~31H 0 0 0 10 0 0 0 0 0 20
6868 10 140 130 100 90 50 0 10 60 80

6813~14H 80 10 0 80 20 0 10 60 30 0

6H20~21H 0 0 0 10 0 0 0 0 0 0

FAEA D. acuminata (FHAREEL/L)

OEET |QBHA (Q-YiR [DEHIG |OXEHAGOER (DES |@FE |(QFE [(OXR
18258 600 0 0 0 10 0 0 - - -
281H8| 1580 10 0 0 0 0 0 0 0 0
2A8H| 1330 30 0 0 0 0 0 - - -
28178 380 10 0 - 0 0 0 - - -
2H22H 640 10 20 0 0 0 20 - - -
3H2H| 1870 30 10 0 0 0 0 0 0 0
387H| 1490 0 0 0 0 0 0 0 0 0
3H14H 580 10 0 0 0 0 0 0 0 0
3H22H 450 10 10 0 0 0 0 0 0 0

3828~29H 300 10 0 0 0 0 0 0 0 0
4858 80 0 0 0 0 0 0 0 0 0
48128 480 0 0 0 0 0 0 - 0 0

4818~20H 60 0 0 0 0 10 0 0 10 20

4825~26H 10 0 0 0 0 0 10 0 0 0
582H 140 0 0 20 0 0 20 - - -
5H9H 20 0 0 0 0 0 0 0 0 0
58168 50 0 10 20 30 0 30 0 0 0
5H23H 30 0 0 0 10 0 0 0 20 10

5830~31H 150 0 10 20 0 0 0 0 0 0
6H6H 10 50 0 10 40 20 0 10 30 40

6H13~14H 40 20 0 0 0 0 0 0 0 0

6H20~21H 60 0 0 0 0 0 10 0 0 0
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